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HSSC CET Mains Group 55 Work Supervisor Question Paper 14 Jan 2024
HSSC CET MAINS GROUP 55 (SUPERVISOR CIVIL)

‘1. "The nﬂain occupation of Palcolithic
~ people is
| (A) Hunting
(B) Agriculture
(C) Pottery making
(D) Animal Husbandry
(E) Not attempted
2. The bearing of a line in the dJrectlon
of the progress of survey is called -
(A) Back bearing o
(B) Reverse beanng-'
t}@)f Fore bearing
(D) Front bearing
(E) Not attempted

3. The maximum. number of Vemcles on
a road that can pass a given point in .

an hour is deﬁned as the ' of e

road lane. ‘
\/[A?/ Capacity' - (B) 'Inefﬁ01ency i
(C) Power (D) None of these

(E) Not attempted

4 Accelerators, normally Y the

setting time of concrete

‘V(A’)/Increase e gé?
@

=

(B) Stops
(C) Reduce
(D) None of the above -
(E) Not attempted

. A p1tched roof is one where the slope T

in any plane exceeds _ to
the horizontal.

@) 1° u{ 7°

€ 5° (D) 10°>

(E) Not attempted
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6. What is the funCtiO
bulldozer ?

n of a ripper on a

, /(A)/To Push earth ang rocks
(B) To load materials onto the machine
(C) To crush hard rock
(D) To move freely on marshy land
(E) Not attempted
7. The of a building is the

part of a structure that transmits the
load to ground to support the

Superstructure.
[EI\T2[E]
\/(A/)/ Foundation % .
(B) Plinth O]
(C) Beam

(D) None of the above
(E) Not attempted

8. Carpet area of residential building is
50% to 65 % of

(A) Plot area

l}B)/Floor area

(C) Plinth area
(D) Site area
(E) Not attempted

9. What is the recommen@ed mlmmum
spacing between hatching lines?

Less than twice the thiclmes§ of
the heaviest line in the drawing
(B) 0.7 mm or less
(C) More than twice the thickne§s of
the heaviest line in the drawing
(D) There is no recommended
minimum spacing
(E) Not attempted
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(E) 3Tt

TIRASHN T A= 1 fewn g

. & S SR 1 @Eww 3 % Rie o 5y

SHIA T g § |

(A) HESIH

(B) ferr
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(E) Twata
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10.

11.

12,

is a type of semiconductor
memory that uses bi-stable latching
circuitry to store each bit.
Dynamic Random Access Mcmory

~ (DRAM)

(B) Display Data Random Access
Memory (DDRAM) }Ex;&?

(C) En Route Automation S

Modernization (ERAM)
(D) Static Random Access Memory (SRAM)

(E) Not attempted

Everybody in a room shalkes hands with
everybody else. The total number of
handshakes is 45. The total number of
persons in the room is /

(A) 9 ~,\/(B 10

(&S (D) 15

(E) Not attempted

Characteristic compressive strength
of 15 cm cube after 28 days,

expressed in
(A) N/mm &3} N/mm?
(C) N-mm (D) N/mm?3

(E) Not attempted

is the ability of a
material to restore its initial form and
dimensions after the load is removed.

(A) Ductility B~ Elasticity
(C) Porosity (D) Hardness
(E) Not attempted
is primarily used for
measuring horizontal and vertical
angles.
(A) Compass
(B) Dlumpy level

) Theodolite
(D) Fly level
(E) Not attempted

10.

11.

12.

13.

14.
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15. Which of the following is not a type of
steel bridge ?

(A) Suspension bridge

(B) Steel truss bridge

(C) Steel girder bridge EhEE
V{D)/Segmental bridge el

(E) Not attempted

16. The exchange of services, information
and product from a business to a
consumer is

(A) C2B (B) C2C

€T B2C (D) B2B

(E) Not attempted

17. Which number will come in the place
of question mark ?

<X
127 W

(A) 190
(B) 221

(C) 236
/ﬁ5

(E) Not attempted

18. is a pipe which is use.d to
provide flow of air to or from drainage
system.

(A) Soil pipe
Vent pipe

(C) Water pipe

(D) Waste pipe

(E) Not attempted

15.

16.

17.

18.
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19. Additional moulding provided under
the nosing to improve the elevation of

step and to provide extra strength to
nosing end of stair is called

\/(7()/Scot1a (B) Flight

(C) Going (D) Sofit

(E) Not attempted

20. Which drilling operation provides a
tapered entrance to the hole ?

% L(Aj{ounter sinking

EyRE
[/ dBT/Tappmg EI ]

(i);gf]/(lore drilling
¥(D) Counter boring
(E) Not attempted

21. What is the main purpose of varnish ?
(A) To color surfaces
(B) To protect surfaces from damage

(C) To provide a matte finish

’/B)/ To provide a shiny finish
(E) Not attempted

22. What is the angle between the three
mutually perpendicular edges of a
cube in an isometric drawing ?

(A) 90° \,(B/ 120°
(C) 180° ) 360°
(E) Not attempted

23. The machine parts of the computer is
called a
(A) Software
) Hardware
(C) Bits
(D) Data
(E) Not attempted
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19.

20.

21.

22.

23.
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E CG - ws24
24. are saprophytic protists. 4 asial Mfew € |
A Dinoflagellates s (A) ARSI "
(B) Euglenoids (B) FrsE
(®)] Protozoans & 79E1 m
. c (C) ershan
(D) Slime moulds & (D) =Y Heg
25, tsfgzglgf concrete cube for compression 25, H‘ﬁ‘gﬂ Wm@ig&m HhHIE T T ATHR
|
A) 100 x 1
\,((B])/ISO : 128: 100 mm (A) 100 % 100 x 100 Tt
150 mm (B) 150 x 150 x 150 forsft
(C) 150 x 100 x 100 mm (C) 150 x 100 x 100 fh
(D) 120 x 120 x 120 mm (D) 120 x 120 x 120 forefy
(E) Not attempted (E) TS
26. What is the functi fh )
"kdin e, T e | 26 T e 7 %
(A) It powers the cab and rotates the (A) I s =t wIfe < R SR
house AT 2
(B) It moves the undercarriage (B) I% B4TS ST & 9ied Sl FeAran 2
C 3R e S F I3[ & 3
\m lifts and lowers the boom and © ?ﬁgﬁ% %
bucket has! o Brif
(D) It controls the excavator's (D) 7 ST&TH il Sl
steering - 2
(E) Not attempted , (E) ST9=fa
7. are end supports of the 27. ‘@ g % 3R v iR Tl
superstructure of a bridge. T T § | EAEE
(A) Wing — walls (&) T - e ES@
(B) Piers (B) T
(C) Approaches (©) QH.IGIFI.
AD) Abutments (D) TEHcH
(E) Not attempted (E) T
. Unit of measurement of Damp proof 28, S YFHEAAMHRTHRE 7|
course is
A) m B) sq.m
(4) m Mq-m &) e
(E) Not attempted (E) AT
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29. What is the angle between the two
cutting lips of a twist drill ?
(A) 90° (B) 100°
ey 118 o) 135
(E) Not attempted Ej A

30. Manav Rachna International University
of Haryana was earlier called as

(A) Kurukshetra Institute of Technology
(B) National Institute of Technology

Career Institute of Technology
and Management

(D) Lingaya’s University
(E) Not attempted

31. The Scientific study of rocks is

called as

\/(Aj/Petrology

(B) Pathology

(C) Pedalogy

(D) None of the above
(E) Not attempted

32. Small wooden blocks fixed on
principal rafter to prevent purlin
from sliding are called

V(B)/Batten

(D) Hip rafter

(A) Cleat

(C) Ridge

(E) Not attempted
33. A wood panel glued under pressure
from an odd number (usually 3 to 13)
of layers /piles of veneers is known as
(A) Sapwood

(©) Cardboard

(E) Not attempted

(B) Hardwood

\(D)/ Plywood

32.

33.

30.

31.

CG - WS24
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34. Which of the following is a featurc of | 34. FreforRed 3 & FH-d Rl T

every plain scale P
o o A A R 7
€ zero is placed at the end R IGURCL NG I
the last division from lcftcs?dcof (A) 3 arﬁ A Rk
(B) The scale is divided into uncqual T
parts AU FTEAE T T
(C) The sub-divisions are marked in ) Eﬁq' @ng‘ mm j mmm%
tl_le last division from zero to left (€) A b 4 =M AN
\/(«D)/’?l?: zero of th 1 ot Uz e
0 of the scale is placed at YT ]
the end of the first division from " : Eﬁ.’-‘?ﬁ T &
(E) Not attempted (E) STSrntea

35. What is the function of a pipe laying 35. Uy fwm arch vl w1 = wE g 7
machine ?
(A) Tt 3R TgF i Fhe & o
(B) e W amft wie F % g

(C) 1€ Ueh T Faei = 1T %%g
(D) =2 i1 T e ¥ R i

(A) To push earth and rocks
(B) To load materials onto the machine

(C) To crush hard rock
\/(D?/To lay down large steel pipes

(E) Not attempted (E) @i
6. A is the reference point of | 36. T TId ST Hl HeH ﬁg 2

known elevation. e e —

/W/Bench Mark %%% ®) e
(B) vDatum _ Q) ax e
(C) Back Sight
D 3
(D) Line of Sight (D) T 3% HMZE
| (E) i

(E) Not attempted
' 37. U ot Tepret Womel & S T T

7. The depression or bend provided in

B e o R anto the entry 1 0 o T et 0 e ® 3
ggo?lﬂ‘g:zz ailr1:to 1:‘zhe atmosphere is ST A _ﬂﬁm Tl < yew EIRG
termed as a %,@“WW%}
(A) Tap (B) Sink (a) & (B) &
\(/o;/Trap (D) Water closet (C) ¥ (D) X FARE
(E) ITSRied

(E) Not attempted
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42. What are the diff

i, eran materials used
uring bricks according

to British Standax‘ds?
(A) Only fireq clay

: 1
(B) Fired clay ang concrete 9‘%%
ETALE

(C) Fired clay and calcium silicate

\/(/B]/ Fired clay, calcium silicate and
concrete

(E) Not attempted

43. Purpose of providing is to

divide the total length of bri

/ rid
suitable spans with . rninimurr%e ot
obstructigg_tg_@_e_stream of river.
(A) Abutments

\/(B)' Piers
(C) Pile bents
(D) Approach
(E) Not attempted

44. Atleast windows on the
opposite walls serve effective
ventilation.

\/m/ Two (B) Three
(C) Four (D) Five

(E) Not attempted

45. To enable free movement of traffic
— . .
around an urban area, a circumferential
road is constructed which is called

(A) Loop roads
(B) Ring road
uz)/By — pass road

(D) Trunk road

(E) Not attempted

-11-

12,

43.

45.
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46. What is paint ?
(A) A mixture of water and oil
A dispersion of pigment in drying

‘ oil
iy(C} A type of wood varnish —
(D) A solution of salt in water
(E) Not attempted =

47. technique permits the direct

reading of any printed character
without any special ink.

(A) Magnetic-Ink Character Recognition
(MICR)

\/({) Optical Character Recognition
(OCR)

(C) Optical Mark Recognition (OMR)

(D) Mouse/keyboard Capture
Recorder (MCR)

(E) Not attempted

48. Mercury cell suitable for low current
devices like hearing aids, watches,
etc. consists of as anode.

(A) Silver-mercury amalgam -
« ABJ Lead-mercury amalgam

(C) Pt-mercury amalgam

(D) Zinc-mercury amalgam

(E) Not attempted

49. Choose the option which most closely
resembles water image of the given

word. T
monday ¥
(A) yadnom -%bnom

C) aequom
(E) Not attempted

(D) wowqea

50. Maximum permissible F.A.R. for

Industrial building is
(A) 1.2 (B) 2
(©) 0.7 UBr 2.5

(E) Not attempted

-12-
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46. YTHFTE ?
(A) 9Tt 3R AT 1 frzpor
(B) @M aTet at # =ofes 1 Herrg
(C) I8 I B Th YR
(D) It T T 1 frerm
(E) TSR

47. aeheiteh for foret oy wry

& foreht +ft gfya arem = D9 vy

AR S R |

(A) HRF-3% Faex WHfEH
(THIATEHIRR)

(B) 3Tifesher et Wit (3fiam)

(C) 3fieeher 7Teh IR (AumaTR)

(D) T /IS Frer [HIST (TEHIR)

(E) 3Tside

48. T4 o gfeit S s gfe, wiey

G 7Y IFF IR A A T 7w F =Y
ﬁ —&ﬁ?ﬂ%' [EI§T[E]
@) G- oy T
(B) HiEm-ur <t frsreg

(C) Pt-aR =t farsrerg

(D) SRET-WR <t firsreng

(E) 3TS=nid

49. 39 foehey =1 = iR, S Ry e

v%muﬁrﬁa%m%l

(A) yadnom B) ysbrom

(C) Aequomny (D) wouwqe)

(E) ST

50. 3N Wem % T s e

6. TR, g

(A) 1.2 (B) 2
(C) 0.7 (D) 2.5
(E) 3=t
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51. is the inwarq transverse
slope provided throughout the length
of the horizontal curye by raising the
outer edge of the Pavement with

respect to the inner edge.

\\/(A‘}/Camber

(B) Gradient FENE
EY
(C) Super elevation OGRS

(D) Stopping distance
(E) Not attempted

52. is a square or rectangular

block of stone or concrete placed

under be 1SS, to spread the
load over a large area of the wall.

Gabble (B) Cleat
(C) Template (D) Verge
(E) Not attempted
53. is a small metal plate with

three fingers at one end used to take
up the sag of the line.

L/m‘mgle plate
(B) Scutch plate
(C) Club plate
(D) None of the above
(E) Not attempted

54. What is the approximate Qperating
weight of a compact or mini excavator ?

(A) 0.7 to 1.5 tons

4487 1.5 to 3 tons

(C) 3to 5 tons

D) 0.7 to 7.5 tons

(E) Not attempted

51.

52.

S3.

54.

-13-
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(A) 0.7¥ 1.5 EACE
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(C) 385

(D) 0.78 7.5

(E) T
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55. refers to the software whose

source code is available to customers
and it can be modified and redistributed
without any limitations.
Ope;Source Software (OSS)

(B) Freeware ENEE
(C) w3cC b i
(D) Proprietary software (=

(E) Not attempted
On 274 October 1959 Jawaharlal Nehru
officially inaugurated the establishment
of Panchayati Raj bodies for the first
time in India in this State,

(A) Tamil Nadu

(B) Karnataka
V{C)/liajasthan
(D) Himachal Pradesh
(E) Not attempted

S6.

57. A horizontal layer of stones or bricks
is known as
(A) Course (B) Joint
(C) Bond P Bed
(E) Not attempted

58. Chain is composed of piece of
galvanised mild steel wire 4 mm
diameter called
(A) Tallies (B) Rings
(C) Knots \UPJ Links

(E) Not attempted

S59. Why is paint applied to metallic and
wooden articles ?

(A) To make them heavier
(B) To give them a better smell
\}Z)/’I“o protect them from corrosion
and improve their appearance

(D) To make them more brittle
(E) Not attempted

565.

56.
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S8.

59.

(B) s

(C) TS

(D) Tewm=rer wewr
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(D) 3% ¥ W T 3 fore
(E) STyia
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60- The process of connecting metal parts 60.
by fusion is called
Welding
: 13
(B) Bolting %
(C) Riveting (=
(D) None of the above
(E) Not attempted
61. Mix proportion of M20 grade concrete is | 61.
) 1:1.5:3 B) 1:2:4
(C) 1:1:2 (D) 1:4:8
(E) Not attempted
62. Building having height more than 62.
95.0m and less than 30.0m, Front
space width is
() 5m \/(Bj/ZOmj
(C) 3m . (D) 10m
(E) Not attempted

63. Which of the followingis a - 63.
rech scale
according to BIS ? 7 g ! 1w

1:20 B 8:1 107 o
c 1: 1000 (D) 20 :1 | = f?/
(E) Not attempted ‘

64. is a softwar€ Qg@ped with | 64
an intgntion to damage hardware
devices, steal data or cause any other
trouble to the user.

\/K)/Malware
(B) Virus
(C) Worms
(D) Ransomware

(E) Not attempted
-15-
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() 1:1:2 (D) 1:4:8

(E) FroTd
25.ovﬁaﬁaﬁ%r$aﬂ130.orﬂztém
ﬁéaﬁmﬁmﬁmﬁ

AR R

(a) 5t (B) 00 Hi

) 3 (D) 10

(E)

SiaTsTE o STTER ¥ q HE-A
e AT ST € ? gl%g
() 1:20 B) 8:1 OP3e
(C) 1:1000 D) 20: 1

(E) TR |

g 2 R EaR
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"

60. The process of Connec

. tin
by fusion is calleq g metal parts

Welding
(B) Bolting g] 1
(C) Riveting et

(D) None of the above
(E) Not attempted

Mix proportion of M20 grade concrete ig
\/mﬁzl.&s:s B) 1:2:4
(C) 1:1:2 (D) 1:4:8

(E) Not attempted

62. Building having height more than

25.0m and less than 30.0m, Front
space width is
(A) Sm
(C) 3m (D)
(E) Not attempted

63. Which of the followingisa -

64.

recommended enlarged scale

according to BIS ?
1:20

(C) 1:1000

(E) Not attempted

By ! | w

g

(D) 20 :1

is a software developed with
an intention to damage hardware
devices, steal data or cause any other

trouble to the user.

(C) Worms
(D) Ransomware
(E) Not attempted

B) 8:1  10hy

60.

61.

62.

63.

64.
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kL HET A 2 |

(A) e

(B) =feen

(C) Peaxfém

(D) 9 o A s 7

(E) arsrnfer

M20 %8 Fihte 1 o s 2
(A) 1:1.5:3 (B) 1:2:4

(C) 1:1:2 (D) 1:4:8

(E) Iromidra

25.0 HieX & 31ferp 3 30.0 Hex & =
TS TS e G Y e 6 e
__ B E

(A) 5t (B) 20 H
S (C) 3 (D) 10 =

(E) STSRmYa

iR % AR Frefies § ¥ SR-m
ST 4T SR R 7 e
(&) 1:20 B) 8:1 e
(C) 1:1000 (D) 20: 1

(E) ST ‘

_ U®H e @ R Eawm
IYHT Bl THAE TgaH, I I HH
1 ITFTHAT Bl HIg A RAE TGTW
3w A Tl frm mn @

(A) AR

(B) STERH

(C) I

(D) TwRm

(E) STt
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65. Which of the following extension is
used to save the excel files ?

(A) .docx \/{B)/ xlsx
(C) .pptx (D) .in %F_l T[]
(E) Not attempted S

66. Haryana is the first State to adopt

\/@ Mahila Police Volunteer Initiative |

\%LB)'aE-govemance initiative
(C) Mobile police stations

(D) None of the above
(E) Not attempted

67. Deviation by a prism is least for

\/Miolet ray

(C) Red ray

(B) Green ray
(D) Yellow ray
(E) Not attempted

68. The type of forests found in the areas
of coasts influenced by tides

(A) Shola Forests
(B) Evergreen Forests
(C) Desert Forests

\/(D)/ Mangrove Forests
(E) Not attempted

69. Which type of bulldozer is suitable for
use on marshy land ? |

(A) Large sized crawler dozers
(B) Bulldozer shovels
(C) Pipe laying machines
) Swamp bulldozers
(E) Not attempted

"HaryanadJobs.in"

~ - W,
65. Qaﬁawaﬁ@aaﬂﬁ%mia%ﬁ%
8 Pt AR 91 S oy 3.
(A) .docx (B) .xlsx
(C) .pptx (D) .in
() 3TSrRfd
66. aﬁmﬁwm
TEHT T 2 |
(A) wfeen gfera w=ri Tt veg
(B) 3-TTo+4 vget
(C) Tfefier gferg wm
(D) IS & & IS 7
(E) STSmfa
67. U e g1 feraem ¥ fom
AH I |
(A) s T (B) 5@ e
(C) @t T (D) ieft formy
(E) 3Ty
68. T & It SR ¥ wwifa B 8, 7
TR % I UG 91 § |
(A) ST 59
(B) HESER 59 m—
(C) Aeerelig 9 ';1.& ]
(D) e =
(E) 19Tt

69. mmﬂmms@q{w
% o1 Tt S & 2

(A) T TR % FHTW SR
(B) TSR Wdeq
(C) sy T areht mfid
(D) SEEHT YereieR

-16-
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y
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i

v

The space on both gj

70. 2=
carriage w. Protect the y i
rriage 1€ road ig
1 -
(S-:hm; ders (B) Formation
(C) Camber (D) Alignment

(E) Not attempted

71. —_is the ratio of built up area,
allowed to the plot area available

(A) Plinth space index l;:‘l 10(E]

(B) Floor space index DR
\,(({ Plot space index

(D) Space index

(E) Not attempted

72. Aggregate retained on
is identified as coarse aggregate.

L/fm/dfjs min (B) 4.5 mm
(C) 4.25 mm (D) 4.75 cm
(E) Not attempted

sieve

73. The of steel is greatly reduced
at temperatures which are commonly
attained in fires.

(A) Colour
(B) Length
(C) Strength
None of the above
(E) Not attempted

74. _________is the branch of surveying
which deals with the measurements
of relative height or depth of different
point on the surface of the earth.

(A) Contouring

) Levelling
(C) Tacheometry
(D) Triangulation
(E) Not attempted

70.

71,

72.

73.

74.
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CG - ws24
5 g % frg o
Wﬁxﬁzmﬁ%ﬁaﬁ%ﬁ%
) e (B) i
(©) S (D) 3z
(E) atvanfiy
ST vEs 8 & e P 2
SIERL 2
() fior oy 33
(B) wAR B s
(C) e ¥1g T4
(D) & 27
(E) TSt
% BoFl W@ U WNE H AR
= o Y § 8= S B |
(A) 4.75 Tt B) 4.5
(C) 4.25 Tt (D) 4.75 %
(E) TSR
TATHH | et T
ST & TEE SR W 3T S S S |
(&) T
(B);irq-rg E]T:?%
(C) Wik GRS
(D) ST | W IS T
(E) 3TRa

0T Y TH IR R S g

#i Tag W fale figelt & wre S8 @
TETE % AT | Heia ® |
(A) SR
(B) Safemt
©)
(D) TrepivmEs
(E) 3TRR@



Join Telegram Group "HaryanadJobs.in"

81' dqe N7 ﬁm{ S e
the coﬁerdaff;liuy ‘C{'Fﬁ :rgf%q'[ et % |
% At P& dewatered Sst‘l;cllc S 3(Aq)ﬁl !
i e u . HaH
fhe (B) feret 9 o
— . c i
T g ©) 37yt
(©) None of the = . il
(D) Not attempted oo S Wm,{ A ForaTal
= uld not exceed 82. <% T
bsorPton S s dry weight St e =
water 227 or cent Of 158 T er for g arferes e ®) 30
o ept immmersed TS (a) 10 D) 4
€
;"4 hours- ®) 30 (c) 20 .
18 G : =) & HRre 2 il 81, af
2 .
8 Not attempted g g3, it TP ot T % |
n the Ci“’ulationdis ” T o @) GE
rCl S
zv'hee floor, 1t 18 calle a) I g3l (D) St
cirgulation. B Vefrilzcoarll . (C) T
_ Inclin€ Ho TR
(c) Direct a &2 (E). ey =5y Teg, | I
(E) Not attempte y gq. T HishIT W s =t N
ing Concreth its =9 'é ‘a'r;'c_"ng ;”E” ? <at % 3?‘-{ Eﬁ‘
’Fm(‘)tlf/tr,le/h@lp“aﬁm’edand 7= a8 ﬁ%wm%aﬁﬁ
e is thoroushly L25e8 the RSN |
suriafi Withjmﬂdﬁ—fl’ﬁ—‘gg;at the top- < = sfig 9T A AT €
cﬁl?:afﬁféf/goncrete come P £ T
A E
(A) Float B) @aﬁ 3 =
(B) Trowel ©) raq T3
(C) Masons SquarTe (D) BT =
Straight edge (E) ST . o .
P s | o8 o P D R
the walls cons is 1o 3K C { -
ot the sides of the aDUITENE oo M e wpgiie % 2 et ¢ Pt
- = ﬂle s % l
;;d M v(:z:er. : & B) =l
wave W e » ( A) -
(A) Span (B) Approa ) Fm—arE™@ (D) T
n
Wing — walls (D) Apro )

(E) Not attempted
-19-
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86. If is present in excess raw

bricks shrink and warp during drying

and burning.
V(A’)/Silica '

(C) Fly ash

(E) Not attempted

(B) Alumina
(D) Lime

87. Which drilling operation is used for
sizing and improving the geometry
and finish of a previously drilled hole ?

(A) Core drilling

(B) Step drilling
‘/(Cr Reaming
V(Efp Counter sinking

(E) Not attempted

[=]y12[=]
3 1
£

88. Which letters will come in the place
of question marks ?

LR, B N,L 27
(A) J,G
(C) K,H
(E) Not attempted

£
G
H/
) J,H A
(D) K,I J

89. The bugle of the first war of independence
in 1857 was sounded first by the
people of Haryana at
(A) Panipat
(B) Sonipat
(C) Kurukshetra

B Ambala
(E) Not attempted

90. Which type of line is used for drawing
visible outlines and visible edges ?
(A) Continuous thin line (B type)
{f (B) Hatching line (B5 type)
>¥) Continuous thick line (A type)
(D) Continuous thin freehand line
(C1 type)
(E) Not attempted

-20-

86.

87.

88.

89,

90.

CG - wsaq

RFAET_ s ey
2 @ 78 @ﬁw*w$

et & 3R ferspar B <t €

(a) Taferent (B) Teyfm
(C) F=ITg U (D) s
(E) i

Tget | fgat fope ¢ B i senfufy =
IR e 3 gurA F for Form Rl
AT =T IFANT Topar ST 2 2

(A) R fgfert

(B) R fgfem

() {if

(D) w13ex f&feRm

(E) TS

T TorET % T WS- 37 SR 2
T,R,P,N, L, ?,?

(A) J,G (B) J,H

(C) K,H (D) K,I

(E) TSRy ‘

BT % A g 1857 % o e
- ™ w1 e H ST R

(A) IHiTa

(B) &ty o WEI'

(C) Foem B

(D) IFEsTe

(E) TSR

gwmamgwﬁﬂﬁahﬁaam%m

ﬁsaméﬁrwaaw?mﬁmm%?

(A) TR waeht Yar (B wehw)

(B) 3 A=A (B5 WR)

(C) TR 7 X (A wahi)

(D) TR waeht e et (C1 J&R)

(E) ST
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AT Go S - e

& oin

‘(C) Nosif (5) Scotia
8 (D) Flight

(E) Not attempted

por da5. carry 70 to 250 vehicles
(A) Heavy traffic road
(B) Medium traffic road
) Light traffic road
(D) Very heavy traffic road Blf_] o
(E) Not attempted Bl
Least count of levelling st
JA¥0.05 m \pa)/aj;.oos m
(C) 0.5m (D) 0.0005 m

(E) Not attempted

A stair turning through two right
angles is known as

D((Af Bifurcated Stair

A

(B) Half-Turn Stair

(C) Quarter-Turn Stair

(D) 3-Quarter-Turn Stair

(E) Not attempted

is a fairly impervious
barrier constructed across the river

or a natural drainage to create an
artificial lake or reservoir behind it.

(A) Canal (B) Bridge
Spillway (D) Dam
(E) Not attempted

Size of a standard brick (modular
brick) should be

A) 19 x 9 x9 cm

(B) 20 x 10 x 9 cm

(C) 20 x 9 x9 cm

(D) 20 x 10 x 10 cm

(E) Not attempted

92.

93.
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94,

95.

96.

TN em ML Yo ST R Sy
—  FEWmR|

(A) T

(C) M
(E) 3rnfi

W sfefe 70 % 250 are = ¥ |
(A) il =TT gem

(B) A& I e

(C) &ceh! I T

(D) sIga Wt AT wesw

(E) TSR
AT T T T AR |
(A) 0.05 #t (B) 0.005 T
(C) 0.5t (D) 0.0005 =
(E) 3o=ia
YER A G A A
% T W AT S R
(A) graTiera =g N
(B) Bh-i Wit o
(C) TR High B
(D) 3-IeA-<H Higl
(E) TR

TG M I IS T oW A @
TR S % o el @ Tl
R AT O et s R
(A) T B) I
OREEE] (D) ==
(E) STRITEa
T A 52 (HISER $2) I 36N

BT =T |

(A) 19 x 9 x 9Tt
(B) 20 x 10 x 9 ¥l
(C) 20 x 9 x 9 Tt
(D) 20 x 10 x 10 &##t
(E) 3T
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97. The order and degree of the diﬂercntial

98.

99.

00.

equation

[1+( vsin(

(A) order = 2
degree = 3

7%
) -

=147 =]
Ry ﬁs'
E‘

(B) order = 2
degree = 4

(D) order = 2
degree = undefined

(E) Not attempted

Haryana has a total of revenue

tehsils at Present.
(A) 6 (B) 51
(C) 78 JB7 93
(E) Not attempted
The is any drainage pipe
that carries liquid wastes that do not
include human excreta.
. (}%/ Waste Pipe
(B) Soil Pipe
(C) Vent Pipe
(D) Horizontal Pipe
(E) Not attempted

The programs and data present in the
memory is called as

(A) Hard copy

(B) Blank copy

(C) Printed copy
Soft copy

(E) Not attempted

97.

98.

99.

100.

el GHIHT
%
d 2 . d 4 d2
1+(——dj:) +sm(—y)] =‘dxz <l By

dx
3 feft 2
(A) 3 = 2
faft = 3
(B) 1 =2
faft =4
(C) H =2
(D) A =2
faft = smfenfya
(E) TSI

A | g 3 S QUS|
a2 |
(A) 6

(C) 78

(E) A9
ﬁéwﬁwﬁrw%sﬁmm
H BIGH =T WA FoR I T F@L |
() IufE qrET

(B) forgt wrsw ENRE

(C) ¢ gy S

(D) et wrgy

(E) 3rventaa

TR & g W ik 2o
63T AT R |
(A) TTE hidt
(B) & it
(C) Tiee =it
(D) | Hid}
(E) 3rv=mida

(B) 51
(D) 93
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__is known as the brr_:g'l_l\ oj
ter. —

Device

Processing Unit (CPU)
Device

[EINR [
Unit }:t%f
mpted (Bl

the following was the last
al ?

u Singh
ap Singh
v Singh
ith Singh
pted

‘_a/k_kgl_am’ battle was
1

| Pandyas
Rastrakutas

s and Pandyas
Pallavas

>d

‘ransfer Protocol
Transfer Protocol
Transfer Protocol
ransmit Protocol

CG - WS24

75. _ hl O 1 AT Hal

76. TmfiRaa # & 99 Feorer o aifm T oy

(A) s 3y fig
(B) wIg Yamu fifg
() wrs 357 Ty
(D) Wig fta g
(E) TSR

77. WG TR I % == oTer
T |

) S s v S
MW@IW [
(C) Tsghe iR digH

(D) SieT 3R wge

(E) ITSRYa

78. THUHAH F1af

AA) et et grew e
(B) T9e B it Wit
(C) TR TS TR NerhTet
(D) Téuer I giafie Tersta

(E) TS
)btaineq 1‘.‘rtc1>_lmlc 79. IR 3ATH G | -@-a‘?gm Bl &
oceurs in the form Gﬁ%ﬁ%ﬁ@lﬁ%mﬁ |
(B) Stucco (a) R (B) &
(D) Slate e AR (D) &k
(E) 3Ty
e 80 I 3T Ug TH it g
iculture, (IHhe=R) el 1T 2 |
\I(E;/River (A) TMET (B), T
Road (@) TafegT J/D{ [LS

81.

82.

83





